
 
 

12020 - BIDE HUILEN 

 

 

A 

1 

2 

2 

1 

3 

4 

B 

C 
5 

10 E

F

1 

9 

1 

13

A 

D 

11 

6 

12 

9 

7 

8 

E

7 

7 8 

D 



 
 

12020 - BIDE HUILEN 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

Nº CODIGO DESCRIPCION 
CANT x 
BLISTER 

    
1 R6981 TUERCA 3/4" PLASTICA 10 
2 R5934 ARANDELA 3/4" PLASTICA 10 
3 R1560 CABEZAL COMPRESION 1/2" 1 
4 R7307 BUJE FIJ. ROSETAS DESLIZANTES 6 
5 R6327 TORNILLO M4x0,7x10 CAB PHILIPS 20 
6 R7314 INDICADOR VOLANTE HUILEN  3 
7 R7180 GUARNICION CONICA 3/8 GRANDE 10 
8 R7181 TUERCA 3/8" PLASTICA 10 
9 R6945 GOMA CONICA BIDE GRANDE 10 

10 R852 CABEZAL DE TRANF VAST ASCEN 1 
11 RL852 CONJUNTO LLUVIA BIDET PLASTICA 1 
12 RS852 CONJUNTO SOPAPA  1 
13 R12020 FLEXIBLE BIDE ECONOMICO 1 
A RL1560 LLAVE LATERAL COMPRESION 1 
B R7336 ROSETA DESLIZ AQ5000/ 6000 /7000 /HUILEN 1 
C R7337 VOLANTE LINEA AQ7000 1 
D RF6020 CONJUNTO FIJ, TRANSF. BIDE ECO 1 
E RT852 LLAVE TRANSF. BIDE ASCENDENTE 1 


